normalized X?

[ normalized x? probability |

0.18
0.16
0.14
0.12

0.1¢--+
0.08
0.06
0.04]

0.02
0P

Ratio
-

0.9

Entries
Mean

- |std Dev.

i - [Entries

Mean

+ - [std Dev

Entries
Mean
Std Dev.

2769
0.3817
0.3212

2545
0.3828
0.3192

2545
0.3828
0.3192

-10'

N—=

0 2 4 6 8 10 12 14 16 18 20 870102 0.3 0.4 05 0.6 0809 1
X2 Prob(x?)
=== DQM_CKF_TTbar
mmm DQM_mkFit_TTbar
wmmm= DQM_mkFit_TTbar-newTr2
1.8

< x2/ndf >

Ratio
-

0.95F - - == J|-
3
n

A 5F

I ST ST SO SR

S Ceeeenes e

\" : .

----- s o
SR FARST ST R ARSI
AV Sk cllu
+,. ........ e .........

o +of f :

g 4B I
0.95F == --=re-ranaea bbb o4 -
0. . . L
107 1 10 10? pw3

< X2/ ndf >

Ratio




	Contents
	Page 1


